Expressions
can be used
fo describe
patterns!

Grogg makes patterns from toothpicks. He records
the numbers of shapes and toothpicks in a table.

SUIP22D A guvzy‘/JDS‘aq‘

Complete the table below with the
EXAMPLE | number of toothpicks needed to
make each number of triangles.

Triangles |Toothpicks
3
6
9

i
|
i
!

SAVANVAY &1

S |o|Njojo|~|lOIN|—

For each triangle in the diagram,

Triangles | Toothpicks Grogg needs 3 toothpicks. So, we
1 3 can multiply the number of triangles
2 6 by 3 to get the number of toothpicks.
3 9 4x3=12.
4 12 5x3=15.
5 15 6x3=18.
- s
7 21 e
8 24
n nx3 <€ To make a pattern with n triangles,

he needs nx 3 toothpicks.
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38.

39.

40.
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PRACTICE ( Use the toothpick patterns below for Problems 38-40.

WO Y WAVAVAN
N NN NN

Complete the table below with the number of toothpicks needed to
make each number of squares.

Squares Toothpicks
1 4
2 8
3 12
4
5
10
100
Circle the expression below n
that describes the number of
toothpicks that Grogg needs to
make a diagram of n squares.
n+3 nx3 nx4 1+nx2 1+nx3

Check your work! Evaluate the expression you chose for some values of n
from the table. Your answers should match entries in the table above.

How many toothpicks does Grogg need to make the same pattern with ~ 40.
40 squares?




Descr/‘é/nj Palterns

PRACTICE | Use the toothpick pattern below for Problems 41-43.

41. Complete the table below with the number of toothpicks needed to
make each number of squares.

Squares Toothpicks
1 4
2 7 ‘
3 10
4 |
5 |
* 20 |
% 100
42. Circle the expression below n .
that describes the number of !
toothpicks that Grogg needs to
make a diagram of n squares.
nx5 nx3 n+3 1+nx2 1+nx3

Check your work! Evaluate the expression you chose for some values of n
from the table. Your answers should match entries in the table above.

43. How many toothpicks does Grogg need to make the same pattern 43.
with 50 squares?
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PRACTICE l Use the toothpick pattern below for Problem 44.

/N AN AN

44.  Complete the table below with the number of toothpicks needed to
make each number of triangles.

Triangles Toothpicks Make sure lk
fo check the |
1 3 expression you
write for some
2 5 values of n!
3 7
4
5
n
100

PRACTICE ‘ Use the toothpick pattern below for Problem 45.

O O
45. Complete the table below with the number of toothpicks needed to
* make each number of pentagons.

Pentagons Toothpicks
1 5
2 9
3 13
T 4
5
n
100

Beast Academy Practice 3C 15




Write an expression for the
EXAMPLE | perimeter of an equilateral
triangle with sides of length 7.

Since the triangle is equilateral, we know the
"= length of each side is .

| /44)29&(/039, 7 Quo"/g;a./“”a/x_‘?

t t
t
So, the perimeter of the triangle is
t+t+t or 3xt.
»,am',’e: R tg,‘i §§§'L
%t*@%@@% ‘
PRACTICE
46. Write an expression for the perimeter of a square with side length s. 46.
S
47. Write an expression for the perimeter of a regular hexagon with 47.
side length 4.
h
48. Write an expression for the area of a square with side length s. 48.
)
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49.  Write an expression for the area of a rectangle with height 5

and width w.
w

50.  Write an expression for the area of a rectangle with height &
and width w.

91.  Write an expression for the perimeter of a rectangle with
height & and width 20.

20

52.  Write an expression for the perimeter of a rectangle with
height /2 and width w.

Beast Academy Practice 3C
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51.
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53.

55.

57.

59.

61.

63.
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Calamitous Clod has
encoded a riddle below!

Find
the value of
each variable

fo unravel my
riddle!

Solve each equation. Then, fill in the blanks

PRACTICE | with the correct letter to reveal the riddle.
You might not use every letter.
2xa=18 a= 54, 6+b=12 b=
d=2+3x2 d= 56. ex9=45 e=
27=9xh h= 58. 40=57-m m=
80=93-0 o= 60. 4xr=28 r=
70=sX7 = 62. 7=t-15 t=
2x10-w=19 w= 64. 68+7z=79 zZ=
1 3 5 7 5 8 1 17 9 22 3
?
6 5 9 10 22 10 5 9 22

Guide Pages: 17-22
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Hidden Message

Calamitous Clod has encoded the answer to his riddle below.
Be careful! He used a different code for the letters on this page.

Solve each equation. Then, fill in the blanks with
PRACTICE | the correct letter to reveal the answer to the riddle.
You might not use every letter.

65. 90-a=79 a=_______ 66. 5x5-2=p b=

67. d+3=20 g=_ 68. 36-¢=24 g

69. g-12=4 g= 70. 150-i=130 =

71. 5xj=20 j= 72. 1ixl=22 =

73. 100=mx20 m=___ 74. n+50=75 n=___

: 75. 2x9+6=s s=__ 76. 1+4=22 o
11 18 11 18 20 5 12 24

18 11 23 2 12

Beast Academy Practice 3C Guide Pages: 17-22 | 19
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5 First, we-use the region with a sum of 16 to write an equation: 2+6+3+{) = 16.

20

In the diagrams below, the number in a region is the
sum of the numbers in the hexagons that surround it.

Find the value of n in
el the diagram shown. 16 17

6 n
\ 3 £

We can simplify the equation by adding 2+6+3. This gives us 11+ = 16.
Since 11+(5) =16, we place a 5 in the blank hexagon.

18 17

6 \i/ n
Then, we can use the region with a sum of 17 to write an equation: 3+5+n=17. ;
We simplify the left side by adding 3+5. This gives us 8+n=17.
Since 8+9 =17, the value of n is 9.

We replace n with 9
16

and check our work. 17

Tl.a=

78. x=
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(#) (s) 2)
81. ° o 9 81.c=
! ; 21 \
15
\—/ c
82. . 82.f=_
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